
Matematyka I, zadania domowe seria VI

1. Zredukuj nastȩpuja̧ce wyrażenia:

a) cos(x − π)

b) tan
(

x + 1
2
π
)

c) cot
(

3
2
π − x

)

d) sin
(

7
2
π − x

)

2. Rozwia̧ż równania:

a) tan(x) sin(2x) = 1
2

b) sin(x) tan(x)
cos(x) cot(x)

+ sin2(x − π) + cos2(x + π) = 0

c)
[

cos(π + x) + sin
(

5
2
π − x

)

+ cot
(

3
2
π − x

)]

tan(x) = 3

3. Rozwia̧ż nierówności:

a) 4 sin(x) cos(x) < −1

b) tan(x)[1 + sin(2x)] + cos(2x) ≥ 0

c) 2 cos
(

2x + 1
2
π
)

tan
(

3
2
π + x

)

> 1

4. Rozwia̧ż równania:

a) cot2(x) + cot(x) − 3 tan(x) = 3, w zbiorze ]0, π[

b) 4 sin(x) − 2 sin(2x) = tan(x), w zbiorze ] − 1
2
π, 1

2
π[

5. Wyprowadź wzory:

a) sin(3x) = 3 sin(x) − 4 sin3(x)

b) tan(x) + cot(y) = cos(x−y)
cos(x) sin(y)

Odpowiedzi

1a) − cos(x)

1b) − cot(x)

1c) tan(x)

1d) − cos(x)

2a) x ∈
{(

k ± 1
6

)

π, k ∈ Z
}

2b) x ∈
{(

k − 1
4

)

π, k ∈ Z
}

2c) x ∈
{(

k ± 1
3

)

π, k ∈ Z
}

3a) x ∈ ∪k∈Z ] 7
12

π + kπ, 11
12

π + kπ[

3b) x ∈ ∪k∈Z [−1
4
π + kπ, 1

2
π + kπ[

3c) x ∈ ∪k∈Z ] − 1
3
π + kπ, 1

3
π + kπ[

4a) x ∈
{

1
6
π, 3

4
π, 5

6
π
}

4b) x ∈
{

−1
3
π, 0, 1

3
π
}

1


